Name: . _ _ _ _ _ _ _ _ _ . MATH

MONKS
Parallel, Perpendicular, or Neither?
Determine whether the given pairs of lines are ‘Parallel’, ‘Perpendicular’ or ‘Neither’.
a y=3x-7 b y=—%x+37 c y=%x
y=3x+1 y=%x+18 y=14x+5
d y=2x e 2x+17y=24 fox+y=1
y= —%x+8 17x -2y =14 x-y=15
1 .
g y- =3X h 4y+9y-18=0 i y=1+2x
_ Ay = - 34
x-3y=3 y-4x=9 y= 3+2x
i 6x-10y =10 kK 7x-8y=8 I y-x=
3y-21=-5x 7y=%x+11 y=3+Xx




MATH

MONKS
Parallel, Perpendicular, or Neither?
Answers
=3x-7 B y=-2x+37 & y=-L
a y=3x y 8 X y 4x
y=3x+1 y=%x+18 y=14x+5
Parallel Neither Neither
d y=2x e 2x+17y=24 f x+y=11
y= —%x+8 17x—2y=14 x-y=15
Perpendicular Perpendicular Perpendicular
g y—9=%x h 4y+9y—18=0 i y=1+2x
_ Ay - _ 3.1
x-3y=3 y-4x=9 y= 3+2x
Parallel Neither Neither
il 6x-10y =10 kK 7x-8y=8 I y-x=1
3y-21=-5x 7y=%x+11 y=3+Xx

Perpendicular Neither Parallel




